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PEINCIE- 3 5 6 10 12 15 18 20 24 30 36 BEINEIE: 3 4 5 6 10 12 15 18 20 24 30
IR (P A) 3 5 6 10 12 15 18 20 24 30 36 | XZHBE(HA) 3 4 5 6 10 12 15 18 20 24 30
REEZE(%) 12.00 13.25 13.75 14.25 14.50 14.75 14.75 14.75 14.75 14.75 14.50 EEFHE(%) 12.20 12.99 13.50 13.86 14.57 14.74 14.87 14.94 14.96 14.96 14.91
A FASA4R100M X FALH100M Y
7Y o9 EEAFH 2.01 335 4.02 6.70 8.04 10.05 12.06 13.40 16.08 20.10 24.12 | 7=V 0o EIHF% 2.04 2.72 3.40 4.08 6.80 8.16 10.20 12.24 13.60 16.32 20.40
Ko (m) K% (M)
XihEE 36, 40 42 48 50 54 60
XILARM(B A) 36 40 42 48 50 54 60
= %) 14.82 14.76 14.72 14.61 14.57 14.50 14.38
FIFHLE100M Y
=Y O EIFLFER 24.48 27.20 28.56 32.64 34.00 36.72 40.80
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<HDENFALNDEBZIAWG] >

FIFA£%850,000 A, 10EHAWTHERLWE ZHB I NIHE

OHEHLWFHE 50,000 % (6.70 +100M) =3,350M
@3 iL%a%8 50,000 + 3,350 =53,350
O FEIN| 53,350 + 10[8]=5,335F

<HDEPFALNDBZIANG] >
FFA4%850,000 A, 10EILWTHEIL WA CHAINBE

OHEHWFHE 50,000 % (6.80F +100) =3,400
@3 iL%a%8 50,000 + 3,400/=53,400
OFxFZN-:| 53,4009 = 10[]=5,340F4
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